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() YT D YT GEIT1 T3 & F97 TH-UF 3% & & | 599 I Uk 915§ 379al
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(i) YT N F YA GEIT 4 & 6 F I97 -3 IFH F & | T IFW TIYT
30 G 4378/

(vii) NI 37 & ¥¥T G&IT 7 T 18 & F¥T di4-di7 Hl & & | FHH I TTHT
50 JIsGl 4 37 8 /

(viii) 97T 37 & Y97 G&IT 19 T 24 & ¥97 Gia-9ia 371 & & | §9% IT TTHT
70 55l H 37 7

(ix) Y77 & Y97 &7 25 & 33 & Y97 JVICHF 19T R SR Tglashed] Jo7
g | I9% J97 U 3% FT & | 130 70 IR kel § @ 379! dacT Th qad
39YH faheq G 8 |

(x) YT T & 97 G&IT 34 T 36 F I FANIIHE HIVicT W TENRT 31-31 371 &
J97 8 | 59 I GIg 7 37 8 /

General Instructions :

(i) The question paper comprises of two Sections, A and B. You are to
attempt both the sections.

(it)  All questions are compulsory.
(iit)  There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be
attempted separately.

(v) Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.
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(viii) Question numbers 19 to 24 in Section A are five-marks questions. [hese
are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.

T A
SECTION A

1.  foreft U8 e Aifiek o1 AW TR ¥ foifge e — OH sehrifeass 99 ® | 1

Write the name and formula of a carbon compound having —OH
functional group.

2.  HJ TSGR [l had & ? fhel T Tqed SEgIehled &l §F [AafET | 1

What is a saturated hydrocarbon ? Write the formula of any one
saturated hydrocarbon.

3.  Thiowht R IwAferft Iodi 1 Teh-Ush IGTETWT ST | 1

Give an example each of unisexual and bisexual flowers.

4.  HI¥e yadqd fr8 wgd 3 2 39 fafy gro 3 S 9 fonedl @ dien o 9
fafem | 2

What is vegetative propagation ? Write the names of any two plants
grown by this method.

5. ol gream o WY uadares 3R Fafd 4 gy & 9 % = g9y
fafgu | afe frata & g i = 3 x 108 m/s B, @ 39 Hewm & e
YT 1A shiToY TTEH TehtsT <Al =Mt 144 x 108 m/s § | 2

Write the relationship between absolute refractive index of a medium and
the speed of light in vacuum. If the speed of light in vacuum is

3 x 108 m/s, find the absolute refractive index of the medium in which
light travels with a speed of 14 x 108 m/s.
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6. I AN YSIeryy I SHAwH! a9 A1 AHT SITAT 8 2§ ol T Tellohiul
|Id 1 T8 T ST B ? 39 S€A1 o gad o T arett fopet 19 58T | W
am fafau |
Why are coal and petroleum considered as fossil fuels ? Why are these not
considered as renewable sources of energy ? Write the name of a green
house gas released on combustion of these fuels.

7.  UIHTA hl UAAIEH A H UREfdd ohiaT = (STiareierton) STffshan w8 2
I TAATA h AadieH H g & fohd Topr firm 8 2 Qi SAfuifshamai < vamteh
gt TRy |
Why is the conversion of ethanol to ethanoic acid an oxidation reaction ?
How is it different from combustion of ethanol in oxygen ? Write the
chemical equations for both reactions.

8.  anyfye omad anvlt & ffafga awi w fomm Hifvw -

Be(4); O(8); CI(17); K(19); Ca(20)

(a) ST ¥ 3T o I AT T hadl Tsh GASThAl Soideq 8 | 9 axd ol
g e Toame feifay |

(b) T ¥ U g WU % § I FHT IR I I o I BRI T |

(c) 3T9 ¥ Ush g Aad o ¢l avd T 3T 3194 I o foTT shrer e |

Consider the following elements of the Modern Periodic Table :
Be(4); O(8); Cl1(17); K(19); Ca(20)

(a)  Select from these an element having only one valence electron.
Write the electronic configuration of this element.

(b)  Select from these, two elements of the same group and state the
reason for your answer.

(c) Select from these, two elements of the same period and state the
reason for your answer.

9. WY AR Fu=A % S 3R Tase HINT | - TR hEd 8 ? 39 UishA
Sl T HH Tt hegl g aTgehl (Tiel) T 3ol il |
Differentiate  between pollination and fertilisation. What is
cross-pollination ? State any two carriers (agents) that carry out this
process.
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Al gRI THEHUY o T 3o S arel! fohegl = ol s gt s-nsy |
gfe 31T Ueit gRT 3 fAfRr ol I @ 3 UNER & TR 37 e hl
TG W B aTcl IHTE T G989 § 3oci@ hiT, | 3

List any four methods that are adopted by human beings for
contraception. State in brief how the health of a family and prosperity of
a nation is affected, if these methods are adopted either by the husband
or the wife.

“ALTUT JUTS] 7T ITIHTET BId 3 39 d2F hl <3 o 9T Hed 4 forg TR
379 T o GO Rt Sfqured foram 2 989 § saren hifsu | 3

How did Mendel interpret the results of his experiments to show that
“the traits may be dominant or recessive” ? Explain briefly.

IR SAequn 3T TG (TITTA) A0 &% o= foheadl o fadieeprdt @eaori
%! =N dTlctept o 9 § SART | 3

List in tabular form any three distinguishing features between the
acquired traits and the inherited traits.

fraffied #§ & g ST@ & A9 IT-YfEaeh T Eieeht, TEdd o 99erq

o ToRuT o U oI @ISy | 3
\Nﬁi\u \ %
ng

% "
(i) (ii) (iii)

Draw each of the following diagrams on your answer sheet and show the
path of ray after reflection.

S
< T

(1) (ii) (iii)
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14. i3 B fhHl T8 & THIH b5 § 80 cm g W@ WiHe 6l ol %
lfesl Sl T8 o TR Hg § 20 cm G T TG T BIhHEd HHAT A1 @ |
(a) 39 TrT YhT AT H TN KT MRT ? R0 Higd I <N |
(b) () Tora 3R 35k Uidfers & &9 1 gt 31 (i) widfors 1 1A 1d

HIIT |
(c) 39 ST § idfers shi &A1 o+ o foiu fortor emi@ @i | 3

A student wants to focus the image of a candle flame placed at a distance

of 80 cm from the optical centre of a lens on a screen placed at a distance
of 20 cm from its optical centre.

(a)  What type of lens should he use ? Answer stating reason.

(b)  Find (i) the distance between the object and its image and (ii) the
magnification of the image.

(c) Draw a ray diagram to show the formation of image in this case.

15. Tiregfee Qv #1 8 2 39 QY & g SR sl A ST | Foh0T sTi@ et
YT °IE o ITAN G 36oh HINYH shi SRS HIAT | 3

What is myopia ? List its two causes. Draw a ray diagram to explain its
correction using an appropriate lens.

16. Tt U Tspamerca =1 9uia hifsre forees oo geeer o SRl w1 faefia feren
ST 8 | 3

Describe an activity that demonstrates the scattering of light.

17. FfaRea < gfee @ fore svron i . 3
(a) Tcdh ITMER A H Fo| bl Y8 Uehic(3Teh BIdT & |

(b)  Tordll UTi@a H STqEEHI i HewqUl e Bid & |

Give reason to justify the following :

(a)  The flow of energy in every food web is unidirectional.

(b)  The decomposers play an important role in an ecosystem.
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18. et fommem o “Sohl o@@ o 39Sl AWM FUR 4 I8 Heqy fohal foh 9+ &= '
% gt FarfEl & S’ o “srta-frfiefia” = # gUh
T 6l AR G & fIU “Sreshdr IfEE” 9aqMT Ao g | 3=
BET & A1 TE AR AR I b gt T hel oh oyl @1 § fuem
S i STEATIHRAT 1 Hewd THSIAT A1 el Ufedl & fdiTh Fal o Tafreei

%! ek T AT QUSI & TG & Hl I T T |
(a) e I G Gl § YUF i I IS H H g Al hl g

ST |
(b) M FAR g Gu 7T g Topl i T FART |
(¢) WM FAR g YeRid g1 qed ffey | 3

Mr. Kumar, the incharge of “Eco-Club” of a school felt the need of
organising an “Awareness Campaign” for the residents of the nearby
areas to make them realise the necessity of segregating the biodegradable
and non-biodegradable wastes. He went from door-to-door with his
students and gave arguments to explain the people about the importance
of disposal of their household waste judiciously. He also informed them
about the prosecutional provisions in the cases where garbage is thrown
at places other than the specified bins.

(a)  List two advantages of disposing the waste after segregating it in
two categories.

(b)  List two arguments given by Mr. Kumar.

(c) Write two values exhibited by Mr. Kumar.

19. e g JEId: HeadS el gRT g ARkl b1 fHIT S o HRUN i
ST HIT | 39 3 TIE@ HRON I 360G hIT AT hTe gHI HcATIh T
T Aiftrent o1 w0 fopr S o foiw STRerRh 8 | a8 off Tuse hifse fos sea g
3= el o |y it sifiresrsr ANfires stfoerr w9 § womft w1 81 2 | 5

Explain the reasons why carbon forms compounds mainly by covalent

bonds. State two main reasons responsible for carbon making a large
number of compounds. Also explain why compounds formed by carbon

with most other elements are exceptionally stable.
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20. (a) MY TEd TRON § T AR IMEA! hl HEAT TARIY | ST HIII oh '
foreh Tog § S @ F 9N 9 gy Eres o R giEds gt @ 2 el
I ST |
(b) =R Tl A, B, C 3 D & sciaeii-eh foa=amd e 9 2 -
A-(2,8,7); B-(2,8,1); C-(2,8,2); D-(2,8,8,2)
(i) 30 ¥ HH-O1 aca TAT ATFES AT 3T ) 2
) 3 @ fpm o < wa B aed S R it i 2
(i) T ¥ 9 @ da@ gHr HH TIehar TEE 3 OAR S
II-3TTEET g Aifieh 91 & | 5
(a)  Write the number of groups and periods in the Modern Periodic

Table. How does the atomic size vary down a group in the periodic
table ? State its reason.

(b)  The electronic configurations of four elements A, B, C and D are as
follows :

A_(2, 87 7); B_(27 8’ 1); C_(27 8? 2); D_(27 87 8; 2)

(1) Which amongst these elements will form acidic oxide and
why ?

(i1))  Which amongst these elements has the smallest atomic
radius and why ?

(1i1) Owut of these select those two elements which have same
valency and form compounds by ionic bonds.

o o s

21. 3IWARTN o7 i IFCEA-HIC T AN@ Giawt F=fcTRaa sl Amifeha T :

VSR, TN, dfdehl, afdel, g
S0 9 greT ST bl Ug=-Y 99T Icdeh o1 Ueh-Ush ¥ fIRdy | 5

Draw a diagram of longitudinal section of a bisexual flower and label the
following :

Ovary, anther, style, stigma, filament

Identify from these the female reproductive organs and state one function
of each.
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22. WHAl H URET % fhad SIS BId & ? 3 | o TORET o SISl hl G&AT FA '
8 ? AFal # fopad YR < o TUrER 9T S g ? “Amal § TRl Tawma g
o1 fomT U T B qen Sehl (|rar-fudn) O 8 foeef @ oft ek fou Icerh
& O ST Gl |7 39 e i gfee fem-faftor <t gfskan i guiie arern yarg
M@ Eiest HIfNT | 5

How many pairs of chromosomes are present in human beings ? Out of
these, how many are sex-chromosomes ? How many types of
sex-chromosomes are found in human beings ? “The sex of a newborn
child is a matter of chance in human beings and none of the parents
(mother-father) may be considered responsible for it.” Justify this

statement by drawing a flow chart showing the process of
sex-determination.

23. (a) TA™ edun o Hed § famfafga 4ei Y smwl i wgEdar 9 sane
i

G g9
(i)  oshdl g
(i) J&T 37

(b) F=fafea sme w foam e | 3o M *ig o 2, P+ fora 2
3 YT g §9T Q $HhT Tidfers 2 :

M
S
E

(i) T M % YhR H Ieci@ hIT |

(i) fd 39 g1 I ®IkE gl H Al AW 15 cm &, A 9T |
foresy <1 g8t o1 afER fepaa BT =fem 2

(iii) 39 W1 H <4u g Ufdfers ST <@ o fou foptor ema
e | 5

Q
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(a)  Explain with the help of diagrams the following terms in the

context of spherical mirrors :
(1) Pole

(ii))  Centre of curvature
(i1i)  Principal axis

(b)  Consider the following diagram. In this M is a mirror, P is an

object and Q is the image of the object formed by the mirror :
Q

M
P
| E
(1) State the type of mirror M.
(i)  If the numeric value of focal length of the mirror is 15 cm,
what must be the range of distance of the object from the
mirror ?

(iii) Draw a ray diagram to show the formation of image in this
case.

24. 39d YR & fI&qur K genrer foror s diwet samean Hifse | wod g &
TWFH BT AN fohd YR foham S gehar 3, 38 IR fohtor 3@ i
HEEAT § ey | 5

Draw a ray diagram to explain the dispersion of white light. With the
help of a labelled ray diagram, show how a spectrum of white light may

be recombined.
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SECTION B

25. UHifesh T & TUIEHT 1 TE A AT | 1

(A)  TTu-fEh € A foren® sl e w

(B)  Tg-ftes S fiet foTer® sl AT e

(C) Tg-Hat €, i fofen® 1 A wE

(D)  TY-H@R SN AT fefend i Har S

Select the correct pair of properties of acetic acid.

(A)  Smell-like vinegar; turns red litmus to blue

(B)  Smell-like vinegar; turns blue litmus to red

(C)  Smell-like orange; turns blue litmus to red

(D)  Smell-like orange; turns red litmus to blue

26. w5 I RN WEeF o I vh-AE W wEEelt § ygd S i @
3T I J&qu1 a1 7 foh Tl | 1

(A) S hl T WA 9 A 3 |

(B) H%g AT ST 2 |

(C) TIoo faem sa e |

(D) TTEH 3 TadH 19 % gags FHead & |

A student gently adds distilled water to a test tube filled ith with acetic

acid and observes that

(A) a separate layer of water is formed in the test tube.
(B)  a white precipitate is formed in the test tube.

(C) aclear solution is formed in the test tube.

(D)  bubbles of a colourless and odourless gas are released from the test
tube.
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27. g B G RU-AMGRAT T EITH hid THT SRt H TTEH &0 Aol H
20% NaOH oo fHe™ o g S&1r il 2 foh 1

(A) iRt I 918l gag 31 7 I 2 |
(B)  Thrsror <h1 U1 U & ST B |
(C) R H fier geeqree Bl 2 |
(D) e I SR Hag T & A 3 |

A student while studying a saponification-reaction on adding 20% NaOH
solution to a colourless vegetable oil taken in a beaker observes that

(A)  the outer surface of the beaker becomes cold.
(B) the colour of the mixture becomes brown.
(C) there is a brisk effervescence in the beaker.

(D) the outer surface of the beaker becomes hot.

28. I B YEA gRI Bihiyd s § e § fgaved o ffaRed =wo w1
&I KL TET 8 | $Heh ey § TRl Y& g | 1

A)  Tegued =1 yrafys =wor

B) Toaved 1 sifqy =7

(©) TeEves w1 a7 = fSad wifikerge fawid 81 @1 8 Weg Haeh Tl
(D) Te@ued =1 a8 =0 e hrgeh AW 81 @1 8 Wed HIRhIGed T8

A student observes the following stage of binary fission in Amoeba in a
focussed slide under a microscope. Select the correct observation in this

regard.
\ &=

(A)  First stage of binary fission
(B)  Final stage of binary fission

(C) That stage of binary fission in which the cytoplasm divides but the
nucleus does not

(D) That stage of binary fission in which the nucleus divides but the
cytoplasm does not
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29. THfaRad @ ¥ il o1 98 g gHT, e et off e 1 3T fgsitetysl
ST o YUT ST LI A oh [, TRl ST Hehell 7 | 1

(A) e, TSHT, HeX
(B) =T, B, HIhI
(C)  wFHI, TR, TSHT

(D) =, g, qrhe

Select from the following a group of seeds, whose any seed may be used to
study the embryo of a dicot seed.

(A)  Ground-nut, Kidney bean, Pea
(B) Gram, Pea, Maize

(C) Maize, Wheat, Kidney bean
(D)  Gram, Wheat, Ground-nut

o 0

30. Tr=fcifea & @ Twafd (FWEd) M 1 Il AT | 1
(A)  dfeEi R wlegai & g
(B) ¥gHl 3R JACAA=I o UIG
(C) ufeRi 3R Aal o qIg
(D) et 3R Iwmeel & 9@

Select the pair of analogous organs from the following.
(A)  Limbs of birds and reptiles
(B)  Limbs of reptiles and amphibians

(C)  Limbs of birds and human beings
(D)  Wings of birds and bats

31. =l o9 e v g feeh ey faw, Rt sty < 3, @ weh
Hd @, a I Slafers 6l Al hEt BT =MMEY 2 1
D d

NS ® X
© P< o <

d D
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If you focus a distant object of the shape using a concave mirror, the
image obtained must be of the shape
D d

@w X ® X
o P o <

d D

fafafea & @ foo7 M@l # 3muad i 3 frfq o =& 7w & o
SIS (D) ! Tl &1 | TG =1 7 2 1

p S <N |
S| gl

I II III v
A LI
B) LIV
(C) I 1III
(D) IL IV

In which of the following diagrams has the protractor (D) been correctly
placed to measure the angle of incidence and the angle of emergence ?

TR O

ral

| L

IT ITI v
A LI
B) LIV
(C) IILIII
(D) IL IV
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33. THfaRad # & fohd 3@ § a9 & TS A oA arcll fRet ThTeT fehivl ol
9 W 9 H G TG ?

AA%A

(A)
(B)
(&)
(D)

I
IT
ITI
IV

In which of the following diagrams is the path of a ray of light passing
through a glass prism shown correctly ?

Gl padya)

(A)
(B)
©
(D)

I
IT
I1I
v

34. fTmafafea frm M@ =1 sewea fifve 3 38 di9d 999 39 g/ 6l T8

fepeal Q1 qfeAT 1 Joarg HINT | 34 el 1 R hieh fora i feafq o aegey
gfafers S areafaes feafa i guia & foe @@ fmw sme Eifbw | 2
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Study the following ray diagram and state any two mistakes committed
by the student while tracing it. Rectify these mistakes and draw the
correct ray diagram to show the real position of the image corresponding
to the position of the object.

35. 39 99 AW F1 YU HLd & & AT HIfeH o il $§ ¢ 39 Waelt §
foema & forew wa 2 2
(A)  3TgA A ?
B) o foaend fae=q 2
(C) ren forenw faerm 2
(D) dEf g ?

What do you observe when you pour a few drops of acetic acid to a test
tube containing

(A) Distilled water ?
(B) Red litmus solution ?

(C)  Blue litmus solution ?

(D)  Universal indicator ?

36. e W gpod HI Ulshar A me 39 Uk & fafiw =won % wd A d
TR ST Eient i | 2
Explain the process of budding in yeast by drawing labelled diagrams of
different stages of the process in a correct sequence.
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